11 SNTEEEEAREFEYEE=SIVRAERE (EEHIE)
(IRBEEF-(XIEHENRSN-YE B yg/m’
A Hh S = thigg s, | RYZABR [ FRSYEER | Coam | Foun |[HEERE=L | KBRRY | =v7L Ll 12-Pomal 13- ERXRY | RUHVRU
AR R EMER| e | FE| ~oty | 5200 [T1200 | Ty | S0 | msm— | zodanm| frawm |7PFVA T IEUT | SaSty | zoican | cokan
| lzsrzgre 30 0.48 0.250 0.034 1.20 0.019 0.019 0.0017 0.0019 0.10 0.13 0.033 0.00064 0.014
—= = 1 0.62 0.270 0.037 0.92 0.028 0.070 0.0021 0.0038 0.16 0.14 0.031 0.00063 0.017
. . _ 30 0.48 0.079 0.035 0.66 0.022 0.035 0.0017 — 0.12 0.13 0.100 — —
I\ IN= A5 = B
2 MRS RN =ER 1 0.46 0.040 0.028 0.59 0.016 0.053 0.0020 — 0.14 0.13 0.028 — —
»e g — fig| 30 0.39 0.073 0.045 0.7 0.014 0.014 0.0017 — 0.11 0.11 0.028 — —
3 PR R -] 0.47 0.110 0.064 0.69 0.017 0.023 0.0020 — 0.15 0.12 0.034 — —
. 30 0.58 0.047 0.013 0.98 0.025 0.011 0.0018 0.0008 0.19 0.12 0.067 0.00034 0.003
Iy HEEIK
4 |mBEmERSR 1 0.66 0.055 0.015 0.67 0.067 0.077 0.0017 0.0008 0.18 0.11 0.260 0.00017 0.003
e 30 0.69 0.190 0.014 1.00 0.016 0.170 0.0018 0.0011 0.32 0.22 0.130 0.00036 0.005
I;l N u!
5 [LEER PR _ 1 0.84 0.120 0.013 0.76 0.022 1.200 0.0015 0.0014 0.34 0.44 0.095 0.00018 0.004
6 =& ;@;ﬁ 30 0.70 0.069 0.056 1.20 0.05 0.049 0.0020 0.0011 0.19 0.12 0.120 0.00030 0.005
— mz |1 0.80 0.069 0.054 1.00 0.069 0.130 0.0016 0.0013 0.22 0.15 0.180 0.00020 0.005
_ o ] 30 0.64 0.064 0.034 0.85 0.045 0.037 0.0015 0.0018 0.14 0.15 0.290 0.00070 0.013
(=N p— =] VAN
7 |EE2358hEE ZER |8 E 1 0.65 0.058 0.036 0.81 0.030 0.095 0.0019 0.0025 0.15 0.16 0.075 0.00059 0.009
= I/ 30 0.39 0.047 0.013 0.66 0.014 0.011 0.0015 0.0008 0.10 0.11 0.028 0.00030 0.003
* 1 0.46 0.040 0.013 0.59 0.016 0.023 0.0015 0.0008 0.14 0.11 0.028 0.00017 0.0031
= * 30 0.70 0.250 0.056 1.20 0.048 0.170 0.0020 0.0019 0.32 0.22 0.29 0.0007 0.014
x 1 0.84 0.270 0.064 1.00 0.069 1.200 0.0021 0.0038 0.34 0.44 0.26 0.00063 0.017
- : 3.0 200 200 150 2.0 10 0.040 0.025 18 1.6 25 0.006 0.14
i* Z :( b- 0 0
Q) FDMOEERRFLYME B3] : Ueg/m
= &= I 34 7tk RILLs HSOLRKRD |RUUSLEL]| o X
SEDE RIEER) WEAR | x| pager | ZuTer | zokan| toisn | [aer. | BTV | PATY
1 | ZERRATE 0.045 25 1.8 0.0034 0.000016 | 0.000210 1.1 4.8
2 |BRE R /INER =E8 — — — - — - 1.1 1.9
L _F:JQ
A0 4= At — —_ — — — —
3 [REHZyERER =i 1.1 7.0
4 |MEHHTEESK 0.085 3.8 2.7 0.0010 0.000002 | 0.000074 1.3 35
5 |dEEEK PLS ] 0.113 4.0 30 0.0010 0.000003 | 0.000110 15 38
6 |=iE EEEER 1 0210 5.0 3.1 0.0015 | 0.000003 | 0.000092 1.6 47
7 |EE23EHEE =E8 RE 0.042 2.8 2.0 0.0031 0.000018 | 0.000110 1.1 3.0
= /I 0.042 25 1.8 0.0010 | 0.000002 | 0.000074 1.1 1.9
[N 0.21 5.0 3.1 0.0034 | 0.000018 | 0.000210 1.6 7.0

) ug(RA4oA55 L) 1%, 10




